DITE

BT

SH6ESA9H (K)

JIE {2 K4 OUT | IN |4 BOX|H D| NET e
1 e B 33 38 71 32 | 67.8 BGE
2 IMR BSE 41 46 87 | 184 | 686
3 =1 EE 44 44 88 | 176 | 704
4 INI B 37 46 83 12 71
5 puntz. NI o 7 37 44 81 96 | 714
6 kg B1E 31 44 75 32 | 718
7 =g Bk 38 42 80 8 72
8 tft E=EKF | 45 45 90 176 | 72.4 NP
9 =% 45 46 91 184 | 72.6
10 HE ZIE 40 43 83 | 104 | 726 NP
11 5 BE 37 45 82 8.8 | 73.2
12 | 5t ZRE | 39 47 86 | 128 | 73.2
13 fifl == 41 50 91 176 | 734
14 MR RS 43 48 91 176 | 734 NP
15 0 5 45 46 91 176 | 734 NP
16 SH &5 44 50 94 20 74
17 7 —AI 45 46 91 16.8 | 74.2
18 ¥ KA 40 43 83 8.8 | 74.2 NP
19 HEH hisE 40 44 84 96 | 744
20 Hfp E— 45 51 96 216 | 744
21 EE & 41 48 89 144 | 746
22 AL FERE 37 44 81 6.4 | 74.6
23 EE F 42 40 82 72 | 748
24 =8 IEE 42 45 87 12 75
25 KT ¥TA 45 47 92 | 168 | 75.2
26 | BRE —BF | 39 49 88 12.8 | 75.2
27 HE B— 38 46 84 8.8 | 75.2
28 | —5FK —[& | 44 49 93 176 | 75.4
29 R TR N 37 41 78 24 | 756 NP
30 ik B 44 45 89 13.2 | 75.8
31 Kix B 45 46 91 152 | 75.8
32 wE B— 42 41 83 72 | 758
33 FE NE— 44 47 91 15.2 | 75.8
34 = E 47 53 100 24 76
35 EF — 40 44 84 8 76
36 INE BE 41 44 85 8.8 | 76.2
37 STk HTER 42 52 94 | 176 | 764
38 5% B 38 44 82 56 | 76.4
39 | KikA FfE | 43 51 94 | 176 | 76.4
40 sl X{E 44 50 94 | 176 | 764
41 =E K- A1 46 87 | 104 | 766
42 MA B 42 53 95 | 184 | 76.6




43 EAR 2z 46 51 97 | 204 | 76.6
44 Mg Ih)a 46 49 95 | 184 | 76.6
45 HEE FIRE 52 55 107 30 77
46 A BE 42 52 94 | 168 | 77.2
47 SH BE 41 41 82 48 | 77.2
48 AT = 41 49 90 | 128 | 77.2
49 A+ PUER 46 49 95 | 176 | 774
50 ECEIEEE] 43 48 91 136 | 77.4
51 EFR BFHh 39 44 83 56 | 774 NP2
52 i EE 41 46 87 96 | 77.4
53 ¥ HiER 43 53 96 184 | 77.6
54 E5 Bt 39 45 84 64 | 77.6
55 B FX 38 46 84 64 | 77.6
56 f=H ER 38 44 82 4 78
57 KT 1£48 42 53 95 | 16.8 [ 78.2
58 Kig BE 45 54 99 | 208 | 78.2
59 T8 Eth 43 52 95 | 16.8 [ 78.2
60 INEY R 42 53 95 16.8 | 78.2
61 A+ BBE 38 45 83 48 | 782
62 n B— 39 53 92 | 136 | 784
63 XE Fig 42 51 93 | 144 | 786
64 A BX 41 53 94 | 152 [ 788
65 Tk IEB 43 52 95 16 79 NP
66 ol LS 47 52 99 20 79
67 Ik & 42 50 92 | 128 [ 79.2
68 EH ¥E 46 50 96 | 16.8 [ 79.2
69 KRF IEH 43 54 97 176 | 79.4
70 Bk 45 52 97 176 | 79.4
71 #5K 1EBH 40 58 98 18.4 | 79.6
72 wg F— 46 45 91 11.2 | 79.8
73 fah E8B 42 51 93 | 128 [ 80.2
74 INE EHE 42 55 97 | 16.8 [ 80.2
75 EH BEh 48 46 94 | 136 | 804
76 BE BEX 38 48 86 56 | 80.4
77 =iH = 41 53 94 | 136 | 804
78 na #BE 41 50 91 104 | 80.6
79 W =& 46 53 99 | 184 [ 806
80 A R— 43 58 101 20 81
81 HOEAR 47 50 97 16 81
82 NI ZFEa 47 50 97 16 81
83 A8 B 44 50 94 | 12.8 | 81.2
84 &Il N8R 45 54 99 | 176 | 814
85 | PHih {£—EBR | 47 55 102 20 82
86 Z8 F 41 45 86 4 82
87 IMIL #X 47 53 100 | 176 | 824
88 B RF 53 47 100 | 176 | 824




89 HO A 41 48 89 6.4 | 826
90 B HEZ 47 50 97 | 144 | 826
91 | Uk#P BEE—ER | 45 45 90 7.2 | 828 NP
92 =8 M3 46 57 103 20 83
93 JE W 56 51 107 24 83
94 Tix 8B 45 51 96 128 | 83.2
95 Nk &< 50 51 101 | 176 | 834
96 EH E 49 49 98 | 144 | 836
97 =H ®a 43 52 95 11.2 | 83.8
98 b BT 48 48 96 11.2 | 848
99 BEY JTAE 51 56 107 | 216 | 854
100 | =& FALf | 52 60 112 | 26.4 | 856
101 | &K =—Bf | 46 55 101 | 152 | 858
102 ¥ BR 46 51 97 11.2 | 85.8
103 = =3 53 60 113 | 264 | 86.6
104 Kbt F=E 56 53 109 | 224 | 86.6
105 HE IEFE 54 60 114 | 272 | 868
106 HE TRIT 45 52 97 96 | 874
107 | H¥i¥F [&sE 50 58 108 20 88
108 =2 RF 54 59 113 | 248 | 88.2
109 | F#= HEE | 50 55 105 | 16.8 | 88.2
110 | FHA {82 46 60 106 | 176 | 884
111 ER me 48 55 103 | 144 | 886
112 g N 43 58 101 | 112 | 898
113 HE 52 53 65 118 20 98




